

4518 snakeriver rd riverside ca. 92501 LIC. 474337

**Turner Signs and Graphics** 

We at Turner Signs have been doing Wayfinding Sign projects for public works jobs for over 25 years, all over the state of

California. Most of our project have been large in scope, like the Merced College project, The City of Danville Wayfinding

Project, and The City of Elk Grove Wayfinding project. We are a full size sign shop, everything is done in shop.

References; 1. The City of Danville, Contact person; Guillermo Santolays, phone number 925 314-3352

2. Merced College, Contact person; Sheila Flores, phone number 209 761-2982

3. The City of Elk Grove, Contact person; Jeff Werner; phone number 916 478-3602



4518 snakeriver rd riverside ca. 92501 LIC. 474337

Turner Signs and Graphics

SCOPE OF WORK; Turner Signs will fabricate and supply all Labor and Materials to install 2 Gateway Monument Signs, 3 Pedestrian Directory Kiosks, as shown in the attached design intent drawings and specifications at the locations shown within the same drawings.

Turner Signs will fabricate and fully assemble 9 Post Mounted Gateway Signs, 21 Vehicle Directional Signs, 5 Vehicle Directional Signs and 3 Pedestrian Directional Signs, packaged and delivered to the city yard, as to drawings and specifications in this bid.

CONSTRUCTION; Drawings and Submittals process est, 2 weeks, sign construction 35 working days, install of monuments and 3 Kioks 14 working days



4518 snakeriver rd riverside ca. 92501 LIC. 474337

**Turner Signs and Graphics** 

## **CONTRACTOR PERSON INFO**

Tim Turner, 4518 snakeriver rd, riverside ca. 92501 Phone # 951 756-2665

Bill Stiefel, 4518 snake river rd, Riverside ca. 92501 Phone # 951 823-9020

Kyle Turner 4518 snake river rd, Riverside ca. 92501 Phone # 951905-4477

ITEM NO.	ITEM DESCRIPTION	EST. QTY.	UNIT	*UNIT PRICE (in figures) DOLLARS	*ITEM TOTAL (in figures) DOLLARS
Tuesd.	TYPE A: GATEWAY MONUMENT (COMPLETE AND INSTALLED)	2	EA.	\$ 20,000	\$ 40,000
2	TYPE B: POST-MOUNTED GATEWAY SIGN (COMPLETE AND DELIVERED)	9	EA.	\$ 2,500	\$ 22,500
3	TYPE C: VEHICULAR DIRECTIONAL SIGN (ROADSIDE) (COMPLETE AND DELIVERED)	21	EA.	\$ 2360	\$ 48,300
4	TYPE D: VEHICULAR DIRECTIONAL SIGN (MEDIAN) (COMPLETE AND DELIVERED)	5	EA.	\$ 2,900	\$ 14,500
5	TYPE E: PEDESTRIAN DIRECTIONAL SIGN (BID ALTERNATE) (COMPLETE AND DELIVERED)	3	EA.	\$ 2,350	\$ 7,050
6	TYPE F: PEDESTRAIN DIRECTORY/KIOSK (COMPLETE AND INSTALLED)	3	EA.	9,000	\$ 27,000
TOTAL AMOUNT BID – BID TYPES A THROUGH F					\$ 159,350

<sup>\*</sup> SUPPLIER/CONTRACTOR TO INCLUDE ALL APPLICABLE TAXES